PackpbiTne CKOOOK 1
npuBeageHmne nogoodHbIX
chnaraembix

3agaHue anst yCTHOro cyeta
YnpaxxHeHue 24

6 Knacc



PackponTte ckobkun n npusegute
NnogoOHbIE:

12—(3+a) =




PackponTte ckobkun n npusegute
NnogoOHbIE:

3b+(2b—-14) =



PackponTte ckobkun n npusegute
NnogoOHbIE:

(10—2a)—(4a+3)=



PackponTte ckobkun n npusegute
NnogoOHbIE:

3—2(4x—5)=



PackponTte ckobkun n npusegute
NnogoOHbIE:

3(x 2) 2(x 3)




PackponTte ckobkun n npusegute
NnogoOHbIE:

126—(2bb )b:_



PackponTte ckobkun n npusegute
NnogoOHbIE:

12—(3+a) =




PackponTte ckobkun n npusegute
NnogoOHbIE:

(2m—1)+2(3n—m) =




PackponTte ckobkun n npusegute
NnogoOHbIE:

—(5;@—2 ))+2(x+3 ) =



PackponTte ckobkun n npusegute
NnogoOHbIE:

2a—(3—5a+b) —




o




